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Answer any 3 questions,

I a) Find the currents,l,,1; &I in fig.1 by the mesh current

method.
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b) Find the voltage V,, in the network shown in fig.2.
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- 8) A signal source v; with no connection to ground, called a floating source,is

amplified by the circuit in fig 4,find+,
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Fig.4

b) Derive second-order differential equation of current in the circuit shown in fig.5 and also find an analytical
solution of the equation and plot current vs. time, when it is over-damped & under-damped.
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Fig.5

- ¢) How much capacitive VAR must be provided by the capacitor bank in Fig.6 to improve the
i _“~ kpﬂwﬁ: factor to 0.95 lagging.
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GROUP-B
Answer any 2 questions
6. a) Describe Construction and Principle of operation of a Dynamometer (or) Electromagnetic
moving coil instrument,

b) Describe with diagram and derivations how Torque is develop iii an electrostatic Instrument.

¢) The pointer of a moving coil instrument gives full scale deflection of 20mA. The potential
difference across the meter when carrying 20mA is 400mV.The instrument to be used is 200A
for full scale deflection. Find the shunt resistance required to achieve thisIf the instrument to be
used as a voltmeter for full scale reading with 1000V, Find the series resisiance to be connected

it?

d) Describe Measurements of inductance by Maxwell’s inductance bridge. _
10410+10+10=40 A
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8. a)Sketch the Nyquist plot for the open loop transfer function
G(s)H(s)= 1/[sd(s+1)).
b) Draw the Bode plot of the open loop transfer function
G(s)= 200(s+10)/[s(s+5)(s+20)].
¢) Obtain the unit step response and unit impulse response of the following system
C(s)R(s)=10/]57+25+10].
d) Write short notes on Root locus construction. 10+10+10+10=40
9. Write short notes on following:- 1 0= 4=40
a) Nvguist stability criterion.
b) D-Arsonval Galvanometer,

r) Ele agnetl /ing coil instrument as wattmeter,
c) Dynamometer (or) Electromagnetic moving ol

d) Internal block diagram of 8086 and the bus interface unit and execution unit.
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